U A

A
=

-
o

I

H

WE110 () §11~123%-%

Bl ¥ ¥ & A 11 (7 #K)
H |5 H 108 DA @] R
RAEA 2 i BlE TFE e B BL | e | "’;f‘ s Lf‘ (kcal
ol I A B U
11/8| - | 24| s | k3 [F7FEs |k F+r#| k% |45]|20(15]25 (1.0 [675
11/9] = | #ek & |2 imndt] 83k 4 |F 18110 F| 2eR 49 (3315 (28 (0.0 | 754
11710 = | #% | P 2fs | ¥F & |FmLiE] Y@ k% |44 (2114 |25(1.0|673
1111w | kesk e | B BEF | 294 |A8nEFsE| 24 72 49127 (1412800 |707
1112) 7 |4k 4| K | wéa* v |3 BB g ¥ 57 45 (33|16 (3.0(0.0 738
11/15) — | B 54| sk | B %8 F o E % ¥3758| k% [50]20]1.0|25|10 [698
116 = | ke & | frid 2 (A5F * & FpaRQ| 2k 45 (2.8 1.3 (25(0.0 |670
V17| = | #% | W FEYs | 4pcsse |F 80 F 5 |pEe v8| k% [46]3.0(1.2(28|1.0]763
118 w | et &2 | § 247405 | %5 e N AR EEF|AFRTE|2 2051129112125 /100 (717
1119 T | sk 42| Frwdr [P A YR 5 ”ﬁﬁﬁ.%.ﬁé | =2 B MR 5.5 2.8 (0.0 739
AREIER P L FREZ 4 § 5 pwzﬁ
FR=RBSFPIHEERE ?;'c?a‘r .’
(-)ER=RHATERET
& | & b 5 4E 1~3& & 4~6E 5
#E B 1~3# & | 4~6F & || 2> ety #p 45 » #p 5 i»
#BE (+) 670 770 7 5E #3F 1 i =% 1
ER SR =p 2 i» Zp 25
A B = O e . , P ,
PP AR AC - &Zp 15 & Ep 2 i
A X R Ly H = — N — N
v, Sl 45 2 K * Tr2p T2y
b Py A +p 25 *p 25 i

25 k]

MEREKREZZ > BB REIREE - B E FURREHE « IZMITEnE?
L. AEFFRERIERE

I5? IRKAV6KRIFEE :

3. (RERR B EH

5. flLE+

IKIGEIARSS > BRT —RAROR

B> BENEEGSIEREL -
B REIE & AR ETI o

ZIRKZIN » MBARTEEIR » ZENRKECRRZ
HESEE

» AJ U BIRE BV BB

FHEIKHE
TR MERZIN ) BERFREEIE ~ IRIBER
LS RARMNRKREE  GREIBEUEREE  BRS - 0I5

&S

2. BRI EEY)
4. B AHEIR
6. BaLEEAL

SEERIATRK > BH 51BN > N:BME « SAs
MR ES » WHAREARR - 21K » RI&ER

.
==}

—T Tk &

5%

MEREE > BRI
ishut)

B ERRE © BR T

BERHKR : fEHERTEHTENRE




